Rode Heath Primary School: Week 5 Challenge day 1: Charlie Mackrory Year 2.
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Parts of a Castle

Battlements

Portcullis

Drawbridge
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Fillin each sentence with the correct word.
fo: afunction word  10Q: also  1we: @ number

1 Tam goingza_read a book.
2. Donald ran _two _ miles.

. Is Ann coming __too 7

3

4. She got __two_ wrong on the test 2
5. My brother likes __to _ play baseball

6.

T was at the park__two _ times today.
Those clothes are __too _ expensive.
8. Cindy got -twa__ strikes in bowling @

7.
9. Ineed _to__ write two__ pages for school.

10.Tneed you o help me its _too _ heavy!
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Four operations with lengths

© v hos oy cor and a toy truck.
The toy car i 12 cm fong.
The toy truck s 7 cm onger thon the toy cor

o) How fong s the toy truck?

b) What is the total length of both
toys together?

19

31

Mo measures his pencil at the start of
Year 2, holfway through Yeor 2 and at

the end of Year 2
A
B

[——=i

(e

c

@) Which picture (A, B or ) shows the pencil

C

ot the start of Year 27

How do you know?

Picture

b) What is the difference between the longest

and shortest length?

Asthe pencilis sharpened it will
getsmaler

9 |m

Q
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Jock, Teddy and Asha b cords for © Kim 87 cm tall ond Huan s 78 am . 1}

i
g € ve e €3
sty cand s 12 cm © e Yeor 2 dswoom s 13 m o o

@) What is the height of Jacks card? ) How long is the Year 3 classroom?

6 |m
21 |m
b) What is the height of Aisha’s card?
b) The Year 4 classroom is 3 m shorter than the
Year 2 and Year 3 cassrooms together
15 fam How long is the Year 4 classroom?

@ Whot s the difrence i heigt between (5
Jack's ord and Aisho's cord?

31 |m

9 |m





